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25 asdH
HE: (5% SHUHSY(LUNITHI/AVHE)
el BEE MEBHY Z4 (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
s gl 13,513 12,000 1,513
101 @121l 10,748 9,235 1,513
04 J|I2ZtH2E2XNEE S 10,748 9,235 1,513
Odt&E D] gAY 10,748
-2 60,240& 2 x80 9,639
-AEE J|&aE2g=2 9,639,000& *11.5% 1,109
206 M= Hl 2,765 2,765 0
01 &2 bl 2,765 2,765 0
OYgY9ANY 80 1,600& *x244 *B0L *90% 2,765
e sE A 164,444 130,076 34,368
101 @121l 154,764 121,896 32,868
04 JI2ZtH 22 XNEE 154,764 121,896 32,868
O NE (=5 - HdARSSIEE 4UHEE
aES2 ZE) 16,121,000& 16,121
OXlsded el (s - X282 40U
ila2g=2 LE) 10,143,000& 10,143
oo dxtel 128,500
=23 270,000& 509 9 & 121,500
28 2 20 &Y 140,000& *504H 7,000
201 L2 A Y| 5,680 4,680 1,000
01 AP 22l Yl 3,600 2,600 1,000
O1.28t=2H| 1,600
-S54 HAEE Y
20,000& x55 «6& 600
-F X SAAH HIIZ XMel 1,000,000& 1,000
O6.9xtz 2,000
NS &sFEH &0t 500,000& »20H x2 2,000
02 332494l 2,080 2,080 0
O1.23224HA 1,080
-S53&EA M3 70,000& = 12& 840
-SE3HA MOE AISE 20,0008 x12& 240
O3. A& &Hl = Xl 1,000
-2t FAES 200,000& *504 A~ 1,000
206 M = Hl 4,000 3,500 500
01 X bl 4,000 3,500 500
O2¥ & =scxX&el s 3,500
-Hlz, &2 1,500,000& 1,500
-x3F, 2= 20,000& x100=2 2,000
OMestAAHl Ml 500,000& 500
e XNEHLAL (RELX AL /NALTAI) 130,468 130,468 0
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2H: sd

H: &Y NGNS AS (S ELNAMNL/NALZA)
Sl NHFUSAAL CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
K=ol =3 A 130,468 130,468 0
A2 XS AR O 130,468 130,468 0
401 AIEBI L 20HEI 130,468 130,468 0
01 A& tl 130,000 130,000 0
Ogllel s2 ZEIA 20,000,000 =14 20,000
OZscl OtAZE TMRIIZA
20,000,000 =14l 20,000
OZUHLEH T2 ZHIA 20,000,000& =14 20,000
OUE=sn MUEZ B3 AM
10,000,000 =14l 10,000
OAUETZ & 22| AIE2 B3 A
20,000,000& =14 20,000
OLets a4 & B3 A 40,000,000 x 14 40,000
03 AlE 2 THHI 468 468 0
OLALXAAMZMNE ALY
130,000,000 *0.72/100%50%<Z& 2+> 468
HE2AZHI (S H)(JIEH/IIE) 267,378 216,986 50,392
ol 2| 55,635 27,381 28,254
HNFolA2A| 24,451 0 24,451
101 @124l 24,451 0 24,451
02 JIEtE B == 24,451 0 24,451
OAMUHHERHLIIM('0H'S:2AHEY) 24,451
-g s 18,368, 0009 *12H x35/40 16,072
- A G A 130,000& »1H «12& 1,560
e =R 125,0002 12 122 «35/40 1,313
SRR (AMAH2R)
64,280 x1H » 128 772
“A I 2R 8, 173« 1Z«10Al 2tx 1228 975
-2 Al
16,072,000% *1/12x84%*86%+*1/30*1/7*63 Al 2t 291
-hEE 720
b < Xt 40,0003 »1H =128 480
DU PNIE] 20,0003 x 18 «128 240
-Here sl 50,000% =1 128 «35/40 525
A2 J&22Y3 22,228,000& x10% 2,223
FAHUE 2| 31,184 27,381 3,803
101 @124l 31,184 27,381 3,803
03 RIAHAZZ2 B = 31,184 27,381 3,803
O=Xlg 2 2el 31,184
-Jlg=s 1,191,240 18« 128 14,295
-4 1,191,2403 » 1H x450% 5,361
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2A: asH
M. HESHBHI(WSSH)(IIEH/IIE
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-HE S| 1,191,240 1% % 120% 1,430
~HHZAH| 130,000& x 15 x12& 1,560
-JtEx4 60,000& 12 x12& 720
-2 2 50,000& *1H +x12& 600
PN, 59,730& 1% »20 1,195
-83=2=4 1,191, 2403 14 *50%*23] 1,192
-2 1,191,240& » 1Y «10%* 12& 1,430
-WEE x| 70,000& x1H ~12& 840
—SHXELE 213,410 x 18 x12& 2,561
Jl =23t 211,743 189,605 22,138
SFAS3HI 120,783 111,885 8,898
201 Bt 120,783 111,885 8,898
01 At 22l ] 26,483 24,865 1,618
O1.8t=2H| 21,675
-EA2Y dEtxZ2H| 12,675,000& 12,675
-Gt AH| 9,000
° YA 50,000& *1H %119 5,950
° =2 50,000& x1H »61 3,050
O5.= &t 1,224
-EA2Y S 1,224 ,000& 1,224
O6.d Xtz 3,584
-HERY dHYXsE 2,000,000& 2,000
-SAD| Xz 132,000& 1L =12 1,584
02 33294l 94,300 87,020 7,280
O1.2Z2222HA 77,130
&= 10,000,000 10,000
IS RH(EY) &IOR3 50,000& x12& 600
-MotEE AIEE 300,000& x12& 3,600
-Bots 22 57,000,000 57,000
-IPTVEEXSY AIEE 40,000& x12& 480
—EENAHREE S 150,000 150
-EANESES 2 3,000,000& 3,000
-XH A Al 2,300
g2 ( 900,000& = 1CH 900
I XS XH(EV) 700,000 *2CH 1,400
0O2.49 24| 2,100,000& 2,100
O3. A8 &HHI K X bl 10,732
-2ots R X H| 5,000& 4865 2,430
A2 R XH| 3,698& x1,285m 4,752
== 1,000, 000& 1,000
~83tx A (HIM) 850,000& *3CH 2,550
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2H: sd
= HER2GFUI(HSH)(OIEH/DIEH

& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O4. Xt &= X bl 4,338
-stE (A ") 3,338,000 = 1CH 3,338
-™II XS XH(EV) 500, 000& =24 1,000
AR FE L 78,480 66,240 12,240
202 o4dl 78,480 66,240 12,240
01 = LH o4 1l 78,480 66,240 12,240
FRASPFAHH 20,000 x17H-18L«12& 73,440
FQARFAHLI(EAXE)
10,0003 x1H 18 x12& 2,160
O&EUHEZRX0E 20,0002 16«3 38 2,880
22 =&l 10,880 11,480 A 600
203 YR =&l 10,880 11,480 A 600
01 122 =4 6,600 6,600 0
OJI22g =2l 6,600,000 6,600
02 R otatg R =& 680 680 0
OIS R F= &Y 40,000& x174H 680
04 REN2ELRZ=LH 3,600 4,200 A 600
ORHSYYL =T (ZE:17)
300,000& 122 3,600
et & =S FHSHI 1,600 0 1,600
405 XtatE SHI 1,600 0 1,600
01 THatH ESFH S 1,600 0 1,600
OHIZ=EZAN BE2E 0531 700,000 =14 700
OAHES &3 100, 000& =504 500
OMEE 22Xt 200,000& *2H 400
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2M: SollH
HE: S SHUHSY(LNITHI/AUHE)
& FsE HIEZR (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
nE=g:] 2,6003 x1H*x22U 128 687
- =l 327,600 1Y 328
09 SALAHIEA S 2,376 2,079 297
O2AZ BAEA S4(39, BHQ)
8,000& 27 73| 1,512
O=gE4ds dsnus FA&AL =24
8,000& x108H 864
401 Al HI & 28I 20,000 20,000 0
01 A& HI 20,000 20,000 0
OHEAL ZHIZSA 20,000,000 » 14! 20,000
sclgrd 24 88,850 88,850 0
301 LEtE A= 88,850 88,850 0
05 & -0l - EBHEESENM3 88,850 88,850 0
osel&d=+¢ 82,000
Jlgsg 200,000& x25F 123 60,000
A= 200,000& 259 x23| 10,000
-3lo g 20,0003 x25F »23| « 12& 12,000
Otttz =g 25,000 x 137 %23 6,850
NE=2s 2¢ 161,161 172,083 A 10,922
101 @124 dl 33,856 29,090 4,766
04 DIt Z2XREES 33,856 29,090 4,766
OsolEisXs2d T2 29 16,928
A== 60,2403 x2H x20 L «5& 12,048
=54 60,2403 x2H x21F 2,531
—ANRSFITE 60,2403 »2H x5 603
428 JARE3 15,180,480& *11.5% 1,746
OsdiHB=EX 32 FAt2el 16,928
-Jlga 60,2403 x2H x20 L «5& 12,048
-=F5g 60,240 x2H x21=F 2,531
—ANRSF/FIsE 60,2402 x2H x5 603
-AHEE JI2RE3 15,180,480 *11.5% 1,746
201 Let24d] 104,305 105,045 AT40
01 Al 22/ 61,430 62,170 AT40
O1.det==2H| 19,210
-Soi 232 & 4,400
2 Bt ZH| 90,000& +x12& 1,080
EA8F ¢ 425 ¢
100,000& 123 1,200
33X HAH| 200,000& *13] 200
=83 FAH 300,000& =13l 300
FoEHEA =2 110,000& »12& 1,320
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2M: SollH
M SOiY SHUNSY(AUDTHI/ANHT)
& FsE HIEZR CEE-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 Al& Bl & 28I 20,000 0 20,000
01 A& HI 20,000 0 20,000
O=232d AR FHIS A 20,000,000 14 20,000
405 RHoHE S HI 3,000 37,948 A 34,948
01 AL EFFHSHI 3,000 37,948 A 34,948
OHICILEZHH 3,000,000 =1CH 3,000
WHEE MEEE =4 303,128 205,708 97,420
2 2te| 12,841 11,422 1,419
101 @124l 10,076 8,657 1,419
M4 JI2ZHZEXNSES 10,076 8,657 1,419
OotEJ &AM 10,076
-Jlg=s 60,2403 x2H 752 9,036
-AHEE JI2RE3 9,036,000& x11.5% 1,040
206 M= Hl 2,765 2,765 0
01 =8l 2,765 2,765 0
OgAMY SRU(ALR)
1,600& %244 *80L x90% 2,765
M S H F Y| 290,287 194,286 96,001
101 @124l 260,847 171,746 89,101
M4 JI2ZHZEXNSES 260,847 171,746 89,101
OJIgRel(F=F - ANRSEIIY AUEE
llgedz e 20,286,000& 20,286
OdlsEdlel (=58 - dXANRSEI+E 4UE
Ella2d3 XF) 50,381,000& 50,381
Ol Rtel 190,180
-Jl=s 270,000& x74Y x9& 179,820
-28 2 23l 140,000& »74H 10,360
201 £B-2d| 21,000 21,000 0
01 At 22l 21,000 21,000 0
O6.8xt=z 21,000
—ofrE A R XNESZEH FUIP U=
500,000 »6CH 7 21,000
206 M= Hl 8,440 1,540 6,900
01 = tl 8,440 1,540 6,900
Odit3A~2835 2 7,940
—-PP L CH 2203 =7,0000H 1,540
-SZ M=% (1002 ) 3,200& x2,0000H 6,400
OdegsZdEdl Mzt 500,000& 500
SoHH NGHLAML(ZELRNEML/RNSLE Al 130,468 130,468 0
KA =3A ALY 130,468 130,468 0
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2AN: SoldH
M SollH XNEMLAL (2 ELX LML /XNSLT Al
el X HEDISAALY (el @2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
ARG A O 130,468 130, 468 0
401 Al HI L 20 HI 130,468 130, 468 0
01 A& HI 130,000 130,000 0
OaF2l 2 32l FOEHAAE EX3A
20,000, 0003 *14] 20,000
O=&tel 2 3Mel FOEHAAE EX3A
20,000, 0003 *14] 20,000
OZ2U E2 L 2AE2E SAES=SA
20,000, 0003 *14] 20,000
OBoE B L AAZA 70,000, 000& =14 70,000
03 Al&E 201l 468 468 0
OLAZXNAAIMNL AlERUY]
130,000, 000& *0.72/100%50%< & 2> 468
HHSHBH (SollH)(IIEH/IIE 387,025 334,099 52,926
ol 2| 55,395 27,381 28,014
ANFold 2| 24,451 0 24,451
101 @124l 24,451 0 24,451
02 JIEt®8 2= 24,451 0 24,451
OAMZEEHAIIH('OH'Z:DIRHH) 24,451
i 18,368, 000& 1 *35/40 16,072
~H M Z A 130,000& *1H x12& 1,560
=g | 125,000 =1 «12& *35/40 1,313
SSANRLYNAHIR)
64,280 *1H x12& 772
-AZ2t 2R 8, 1173 x1H x10A| 2tx 128 975
- D2 AbH|
16,072,000 x1/12%84%*86%*1/30%1/7*63 Al 2+ 291
SESY 720
B < Xt 40,000& 1 x12& 480
P PNIE 20,000& x1H x12& 240
-t syl 50,000& *1H x12& *35/40 525
“AEE JI22E23 22,228,000& *10% 2,223
Mg 2H| 30,944 27,381 3,563
101 2124 d| 30,944 27,381 3,563
03 RIAHAEZZRE 30,944 27,381 3,563
OsdEs2d el 30,944
-Jl23 1,191,240@ x1H »12& 14,295
-0 2 1,191,240& x 1 *450% 5,361
-g &S0yl 1,191,240& x 1 *120% 1,430
-8 M= Al 130,000& x1H = 12& 1,560
s 40,000& *1H x12& 480
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2A: SoliH
M. HESHBH (SollH)(JIEH/IIE
chel: ol gyl CEEEED
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HMES NSHLAL (FELRGNL/XNALZ Al 10,000 10,000 0
N AF0 =3 At 10,000 10,000 0
D 2R S ALE O 10,000 10,000 0
401 Al HIZ 201 8] 10,000 10,000 0
01 A& HI 10,000 10,000 0
OFUEYANE &X & HHl
10,000, 000& * 14! 10,000
HHE2AZHI(MES)(JIEH/IIEL) 117,871 82,026 35,845
el 2 gl 24,187 0 24,187
AFHA2AH| 24,187 0 24,187
101 @14 Hl 24,187 0 24,187
02 JIEt& 2 == 24,187 0 24,187
OAMZHEHAINM('0H' S :22S#H) 24,187
- 18,368,000 *1H x35/40 16,072
- A A 130,000& x1H «12& 1,560
s R=g ] 125,000& =1 128 x35/40 1,313
SSANLAY(AAMDR)
64,2803 x1H +128 772
“A2H R 2R 8, 173« 1Z«10Al 2tx 128 975
- JtE &bl
16,072,000% *1/12%84%*86%+*1/30*1/7*63 Al 2t 291
-IFESY(JIEDLE) 20,0003 x2H 128 480
-tHere syl 50,000 *1H x12& *35/40 525
-AHEE JI2RE3 21,988,000 x10% 2,199
Jl=&l 93,684 82,026 11,658
N2 35,904 35,386 518
201 Let24d] 35,904 35,386 518
01 At 22l 13,592 13,574 18
O1.dBt=2H| 9,860
-EAE2Y et 8,300,000& 8,300
“GAH(WEH2R) 30,0003 1«52 1,560
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H: HHE2HAHI(MES)(JIEH/IIE)
¢l =gl (chel & 9l)
. = . SRE
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/

Odegl 2,500,000 1CH
OLE=SZa=H 1,200,000& *1CH
@)=IpN; 200,000& 14
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1,200
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2N §1S
Hu: 50E SHUHSY(LNTTHI/AUHE)
el FOIEE HHTQ (crel:za)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
301 dEtEAZ 130,500 130,450 50
0BbSHE-01&-ctEes243 130,500 130,450 50
Oscl&s¢ 114,800
|24 200,000& *35H x12& 84,000
-A03 200,000& *35Y *23| 14,000
-3¢ 20,000 *35H x23] x12& 16,800
Oet&E 4 25,0003 *314Y »23| 15,700
NEES 29 74,049 59,400 14,649
101 @121 50,781 43,632 7,149
04 JI2ZtH 22 XNHEE =+ 50,781 43,632 7,149
O Ma 22| 50,781
PAR=E=] 60,2403 69 20 x5 36,144
-5 60,240& x6H %213 7,591
P ESa= =] Ea =y 60,240 x6H 5! 1,808
A28 J|I28E23 45,544 ,000& *11.5% 5,238
201 et A | 13,320 13,320 0
01 AFR2t2l Yl 3,600 3,600 0
Ol.gur4gy| 3,600
“HeCNB B
100,000& *3M A x12& 3,600
02 35244l 9,720 9,720 0
O1.22224HA 9,720
-8MIIe3 220,000& *3H A~ x 128 7,920
—IHUYIH AIBZ 25,0003 *3M A x 128 900
-NERe3 25,0002 *3H A~ x 128 900
301 dEtE A= 2,448 2,448 0
09 HAIAH EA =S 2,448 2,448 0
ORSTHE THAZAR 24
2,000 x2Y 17«3 A 122 2,448
405 XtabF SHI 7,500 0 7,500
01 AL 2B F SHI 7,500 0 7,500
Olgl&=H2T A2 WU I (Z2IHQH)
2,500,000& x3H 7,500
NS MeEtEE X4 115,256 95,055 20,201
ME st A A Y| 115,256 95,055 20,201
101 @121l 108,856 89, 155 19,701
04 JI2ZtH22XNEE =+ 108,856 89, 155 19,701
Ol (=8 - dNKSsIIEE 402 E
ez TE) 33,856,000& 33,856
Ollsdedxtel(Fzs - dxeE2si2 408
golaedza TEh) 10,750,000& 10,750
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2N §1S
Hu: 50E SHUHSY(LNTTHI/AUHE)
Sl MHE MEHA ZN CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Okl itel 64,250
-Jles 270,000& »25H «9& 60,750
-2 2 20&EH 140,000& »25H 3,500
201 L2l 2,000 2,000 0
02 2324l 2,000 2,000 0
O3. A& & Hl s X bl 2,000
—EXAIE R X222 BSSEA FlES
=l 1,000,000 *20H A~ 2,000
206 M= Hl 4,400 3,900 500
01 =8l 4,400 3,900 500
O=&sd 223 1,900
-MYJIBEMSE 2 38 1,900,000 1,900
OUWl=2l1 & 2 48 2,000,000& 2,000
OMestdFHl Mz bl 500,000& 500
S35 NYNLAML(ZELXNEMLY/XNSEL Al 18,000 18,000 0
N AF0 =3 At 18,000 18,000 0
DA 2 XA O 18,000 18,000 0
401 Al& I 28I 18,000 18,000 0
01 A& HI 18,000 18,000 0
OFQEAAIL &X E FHI
10,000, 000& 14! 10,000
OUEOIZS3L AI82 |X2el
1,000,000 =84 2~ 8,000
HHE2AZH (E2S)(JIEH/IIE) 158,688 112,675 46,013
ol 2d | 23,659 0 23,659
HFlA2AH| 23,659 0 23,659
101 @124l 23,659 0 23,659
02 JIEt A 2+ 23,659 0 23,659
OAMNLHHEHLIIM('0H'S:UAHEY) 23,659
-gs 18,368, 0009 *12H x35/40 16,072
- A G A 130,000& 1H 128 1,560
e R=ge== ] 125,000 » 12 x 128 %35/40 1,313
SSANRLY(AAHIR)
64,2803 x1H « 128 772
“NZt 28 E 8, 173« 1H«10Al 2tx 1228 975
-2 AtY|
16,072,000 *1/12x84%*86%+*1/30*1/7*63Al 2t 291
-tHer g sl 50,000& «1H »12& «35/40 525
A2 J22RE3 21,508,000 x10% 2,151
Jl234l 135,029 112,675 22,354
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2N §1S

HH: #H2I3H(S2S)IIE/IIE)

& 123l (chel & 9l)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
FA2EH 50,509 43,735 6,774

201 £et23E | 50,509 43,735 6,774
01 At 22l bl 15,599 15,274 325
O1.det=ZHl 11,435
-FAEY eS| 9,875,000& 9,875
-G (HE22R) 30,0003 x1H «52& 1,560
Ob5.=&Hl 1,080
-RFA2Y =l 1,080,000& 1,080
O06.2x= 3,084
-HEEY FHSER=E 1,500, 000& 1,500
“SAMI EXE 132,000& = 1CH 122 1,584
02 32224l 34,910 28,461 6,449
O1.332=<LHA 26,156
-Hlles 1,200,000 x 128 14,400
“HIINSRH(EY) RS 50,000 x12E 600
&t MER 1,650,000& 1,650
==l RUE = =) 100,000 100
NS RERS 5,500,000& 5,500
-IPVE S EEY MEE 25,0008 x12& 300
QYL MEZ 33,000& x12& 396
-AEHAS U2 3.210
s2(28) 1,210,000& » 1CH 1,210
I XS RH(EV) 1,000, 000& =2CH 2,000
O2.9 2l 1,300
-=237I 1,300, 000& 1,300
O3. Al € & Hl=Xlbl 3,116
-4 & HSK| X 1,118& 998 m’ 1,116
-d eI KX 2,000,000& 2,000
O4.xtgd ethl 4,338
- E(42E) 3,338,000% «1CH 3,338
P PAE=PNI() 500,000 »2CH 1,000
SRFAAH 71,820 56,280 15,540
202 O 4 71,820 56,280 15,540
01 SLHOYI 71,820 56,280 15,540
OFYRFA0H  20,000& 1618 128 69,120
Ot =022 X0l 20,000 «15 3L «3& 2,700
LR =AH| 11,500 11,460 40
203 QIR E= A Y| 11,500 11,460 40
010223 gRFAH 7,900 7,900 0
OJlZ2gdg 2=l 7,900,000& 7,900
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2M: oIS
M 01 SHUNSY(YUDTHY/AUHT)
& FsE HIEZR (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl2sdg 200,000& x22H 124 52,800
-&0= 200,000& *x22& +23| 8,800
-3lol =& 20,0003 x22% «23| x 128 10,560
Ogta=¢ 25,0003 1718 #23| 8,550
WHEE MEEE =4 92,515 71,034 21,481
M S E | 92,515 71,034 21,481
101 @14l 89,327 71,034 18,293
04 D12t Z22HEE = 89,327 71,034 18,293
OEELRE(FE - dURSEIY 4UE
Ell2Rd3 ) 12,227,000& 12,227
Ol Rtel 77,100
-Jlg=a 270,000 30«9 & 72,900
-2 & 20 140,000& 30 4,200
206 M= Hl 3,188 0 3,188
01 =8l 3,188 0 3,188
OMYIIEEEIESE HE(MAIISE)
3,2003 +70&+128 2,688
OMastdFHl Mzl 500,000& 500
CHolS KYMNMLAIS(ZELXNSML/NSALE Al 19,000 19,000 0
A== A 19,000 19,000 0
A2 XS AR O 19,000 19,000 0
401 AIEHI L 20HEI 19,000 19,000 0
01 A& HI 19,000 19,000 0
OFQEAAL X E FHI
10,000, 000& 14 10,000
ONE 033U ANEE A2
1,000,000 *9H A~ 9,000
HY2AZHI(CHO0IS)(IIEHIIE) 141,403 108,598 32,805
el 2 24,979 0 24,979
A2 AY 24,979 0 24,979
101 14l 24,979 0 24,979
02 JIEtE B = 24,979 0 24,979
OAMNAHHEHAIIM('0H' S UAHEY) 24,979
-g s 18,368,000% *19 x35/40 16,072
—Z A S A 130,000 12 =123 1,560
s R=ge= ] 125,000 » 12 « 128 %35/40 1,313
SSANRAY(AAH2R)
64,2803 x1H 123 772
-2 22 8, 173« 1H«10Al 2tx 1228 975
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2M: ol
HH: AH2I3H(LHOIS)(IIEH/IIE)

eel: §§§§m (ol &9)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
-t 2 &th|
16,072,000 x1/12%84%*86%*1/30%1/7*63 Al 2+ 291
-tEs4 1,200
bl < Xt 40,000& *1H x12& 480
T EMAY 60,000& *1H +x12& 720
-l syl 50,0008 12 « 128 35/40 525
“AEE JI22E3 22,708,000& *10% 2,271
Jl2& bl 116,424 108,598 7,826
EANEgY 43,484 41,718 1,766
201 2yt 2 Y| 43,484 41,718 1,766
01 AFR2t2l Y] 15,005 14,979 26
O1.28t=2H| 10,985
-2ENEY L3 9,425,000 9,425
-YAH(HEH22R) 30,000& * 1 52 1,560
O5. 2 &l 936
-2EA2Y S 936,000& 936
O6.9xtz 3,084
-HAEEY AUlYRE 1,500,000& 1,500
-SA| EXtz 132,000& x 1CH*12& 1,584
02 3524l 28,479 26,739 1,740
O1.3322LHA 19,772
~MIIR3 9,500,000 9,500
&I SX(EY) HIRSB 50,000& = 12& 600
-MotEE AIESE 1,300,000& 1,300
—ENYS RER= 5,000,000& 5,000
SPNE= PN SR = 3,000
}E(2E) 1,600,000& = 1CH 1,600
SO K= XH(EV) 700,000& *2CH 1,400
-IPTV 8 2HSS AISE2 31,000& x12& 372
O3. A& &Hl = Xl 4,369
-A 22 XYl 2, 7173 x835m 2,269
- LE )| 2 Xl H] 2,100,000& 2,100
O4. Xt & | 4,338
-2 (2¥) 3,338,000 = 1CH 3,338
-&II RS RHEV) 500, 0003 =2CH 1,000
o2 =X 01 b| 62,820 52,260 10,560
202 04| 62,820 52,260 10,560
01 2LH O HI 62,820 52,260 10,560
OFQIPFANY 20,0003 1418 x12& 60,480
OXt=2 022 X0 Yl 20,0003 *13H *3 «3& 2,340
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